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QUESTION 1

Which of the following is not a configurable parameter data type? 

A. Email 

B. Array 

C. Binary 

D. Decimal 

Correct Answer: B 

 

QUESTION 2

Which level of parameter assumes the highest precedence in BIG-IP ASM System processing logic? 

A. Flow 

B. Object 

C. Global 

D. URL 

Correct Answer: A 

 

QUESTION 3

What is an advantage of packet forwarding architecture? 

A. allows for SSL offload 

B. reduces latency 

C. allows for manipulation of HTTP headers 

D. handles larger packet sizes 

Correct Answer: B 

https://devcentral f5.com/questions/packet-andproxy-based-56526 

 

QUESTION 4

What is a common use of an iRule? 

A. to modify application traffic between the client and server 
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B. to create a reuseable application delivery template 

C. to integrate a BIG IP into an enterprise orchestration tool 

D. to create an accelerated session between two BIG-IP devices 

Correct Answer: A 

 

QUESTION 5

Which of the following statements best describes the ARX architecture? 

A. The ARX\\'s split path architecture has a data path that handles the most common operations, and a control path that
handles other operations requiring deeper inspection and updating of the index. 

B. The ARX\\'s architecture has redundancy built in, allowing a single ARX to be deployed in most use cases which
provides a huge cost savings to customers. 

C. All of the above. 

D. It is a software agent that installs on the storage device. 

Correct Answer: A 
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